:> restart;

[> N := 10:
F(Y) := add(p*i*£f[i](Y), i = 0..N);
HPMEq := (1 - p)*diff(F(Y), Y $ 4) + p*(diff(F(Y), Y $ 4) + R*

(dif£(F(Y), Y $ 3)*F(Y)- diff(F(Y), Y $ 2)*diff(F(Y), ¥ $ 1))-G*
diff(F(Y), Y $ 2));
sol:=[]:
for i from 0 to N do
sol:= [ sol][],

dsolve
( [ eval
( coeff (HPMEq, p, i) = 0,
sol
),
£[i](0) = -a,
£[i] (1) = -b,
D(£[i]) (0) = B * D(D(£[1i])) (0),
D(£f[i]) (1) = -B * D(D(£f[i])) (1)

end do:
sol;

F(Y) = f,(Y) +pfilY) +p f(Y) +p /(Y) +p* £(Y) +p° £(Y) +p° (V) +p" £5(Y)
+p £ (V) + 0 1Y) +p'0 £ (Y)
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4
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+p° PR +p7(—dy3 J%(Y)j+p8(§ J%(Y)J+p9 oy A

+p" (_ flo(Y)j] (H(X) +pR(X) +p L)+ () +p f(Y) +p7f5(Y)
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+p° A1) +pT (1) + 0 (1) + P 15(1) +p" S0 (1)) — ( A [%
2 2
flm)+p2(d—25<Y>)+p3(d—zg<Y>)+4(d—f) ( fsm)
dr ay

6 d 7 ( & g ( d° o d°
+p F]%(Y) +p F]%U’) +p ng(Y) +p ng(Y)
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4( d s d 6 d 7( d
f3(Y>)+p (5 A(Y))er (3 fS(Y))er (5 fé(Y))er (5 f7(Y))
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¢ ¢ ¢
b R G o =R B e
s d 6 d* 7 ( & s d
+p W}%(Y) p W]%(Y) +p | — 5 [Y) | +p ng(Y)
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g )+ [ o]
2(a—=b)Y  3(a—b)Y*  6B(a—b)Y
[O(Y)z_ (6aB+)1 - (6aB+)1 - 6(g+1) —ahh) =
1 1 1
—m(6(a—b)(-ﬁRY +105RYb+£RY6a—%RY6b
e 1 1 _ b 1 5,1
+ 75 BGY+4BRaY4+4BRbY4 ZORY + 55 RYD 4BGY4
1 s | 1 1
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~1260 B Ra® + 1260 P Rb> + 420 B> Ga — 420 B> Gb —462BRa* +84 RaBb
+378 BRbH> +5040 B a — 5040 B> b + 154 BGa — 154 BGb—43Ra* +16Rab

+27Rb*+1680Ba— 1680 Bb + 14 Ga—14Gb+140a — 140D) Y°)

1

7 3 ((-1260 B*Ra* + 1260 B*R b*
140 (432 B* +432B° + 144 B> +20 B+ 1)

+30240 B a0 — 30240 B’ b +84 B> Ga —84 B> Gbh —426 BRa> + 12 Ra Bb

0y



+414BRbH> +25200 B> a — 25200 B b +56 BGa—56 BGb—38Ra’>+6Rab

+32Rb>+5880Ba —5880Bb+7Ga—7Gb +420a —4205b) Y?)

1
" 70 (432 B* +432 B> + 144 B> +20B + 1)
+30240 B°a —30240 B’ b + 84 B°Ga —84 B°Gb —426 BRa* + 12 Ra B b
+414 BR b* +25200 B*a — 25200 B b + 56 BGa —56 BGb —38Ra*+ 6 Rab
+32RbH+5880Ba—5880Bb+7Ga—TGb+420a—420b) ¥) —a|
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